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Exam Style Questions *

Cumulative Frequency CorbettmOtths
Box Plots

A )

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

S J
N J

Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

3. Always show your workings

[
Revision for this topic
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Draw a cumulative frequency graph for this information.

The weight of 80 deer was recorded by a zoo keeper.

The table below shows this informat

; 8
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frequency so
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The ages of 100 teachers were recorded.
The table below shows this information.

Cumulative
Age, x years | Frequency f ey

20<x¢ 30 12 |2

30<x<40 30 L&
40<x <50 28 70
50 < x < 60 22 9
60<x<70 8 |00

(a) Complete the cumulative frequency column in the table.
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(b) Draw a cumulative frequency graph for this information.
(2)
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3. The table shows information about the number of hours that 260 students spent

revising for an exam.

Numbe(rh?f hours Frequency
O<hs2 20
2<h=<4 32
4<hs<6 48
6<h<8 120
8<h=<10 24

10<h=<12 16

(a) Complete the cumulative frequency table.

Number of hours Cumulative
(h) frequency
O<h<2 20
O<h=4 S
0<hs<6 [0Q
e 0 IETT,
0<h<10 2l
0<h<12 260

(1)
(b) On the grid on the following page, draw a cumulative frequency graph for

your table.

(2
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280%

240

Cumulative
frequency

160

120"'F

80

0 2 4 6 8 10 12

Hours revising

(c) Use your graph to find an estimate for the median number of hours spent
revising.

.........................

(d) Use your graph to find an estimate for the number of students who spent
less than 3 hours revising.
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4. The table gives information about the weights of 50 male rugby players.

Lowest 68kg
Lower Quartile 74kg
Median 82kg
Upper Quartile 88kg
Highest 100kg

(a) Draw a box plot to show this information.
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The weights of 50 female rugby players are also recorded.

The lightest female rugby player is 51kg.
The lower quartile is 60kg.
The median is 71kg. a@ '24

44 b S
..... bttt ' ’ ’ $ —— b D
R e SR SIS U WA WA W 44 e = TS SIS I SV - R e e ot -
4 - e P ‘Y" o idand s} - - b3 ’ 8 ' + -+ —— 4 e
" e - .- wE=s v -
3 v Yy 1 -
bk b ———p—b - A -4 + = 5 P r; + S S pofpedadd 4 Bod L b
s A,‘ALJ—4~4 AT W .- REW SN wwe L.L...f. Sl bl b b~ "f“l - . oo d - 4h e o S U0 T
i 44 44 e e, ‘_‘ i + + d SRR SR T o T o S SR N - .
St s R T - f”"'“";“"" ‘;;*,-»L S A A . - xa A d bl ’.wl - 44..‘.r : .
] I t 1 1 11
T - ™ m
. ipcandad dd foodtd B L A L4 L 1 bptddepede b L QL L L LEL L 4L
) bk +. $ : tiid : " .
ottt g b bg L B L L L ,‘.J.. ..su.!:..L. — e e a e B b O
sEel i L4 -t fpad L L ‘ i z b ;“Jpé.l - 3 bt
8
So S5 éa 65‘ 70 75 Su 85 %

0( 100 /O(

weﬁb‘

(3

The range and interquartile range for the female rugby players is the same as
the male rugby players. A g 3 9

'ﬁ

(b) Draw a box plot to show this information.
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5. John did a survey about the amounts of money spent by 120 women while
Christmas shopping.

The cumulative frequency table shows this information.

| Amount spent, £x Cumulative |
| frequency

0<x<50 6 |
' 0<x<100 30
- 0<«x <150 80
' 0<x<200 100
' 0<x<250 112
 0<x<300 120 |

——

e e

-

(a) On the grid, draw a cumulative frequency diagram.
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(b) Use the cumulative frequency diagram to estimate the median.

John then surveyed men about the amount of money they spent while Christmas
shopping. The median was £160.

(c) Compare the amounts of money spent by the women with the amounts of
money spent by the men.

e 2 ppfim of #/ho (,,,,;ﬂmj b JF135

........................................................................................................................
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6.

Cumulative frequency

A university surveyed 60 mathematics graduates on their starting salary.
The cumulative frequency graph shows some information about the salaries.
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(@) Use the graph to find an estimate for the median salary.
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The 60 mathematics graduates
had a minimum salary of £16,000
and a maximum salary of £48,000.

(b) Use this information and the cumulative frequency curve to draw a box plot
for the 60 mathematics graduates.

Mathematics Graduates

£0 £10,000 £20,000 £30,000 £40,000 £50,000

Salary

HaENE S

3)

The university also surveyed 60 archaeology graduates.
The box plot below shows information about their salaries.

Archaeology Graduates

i

€0 £10,000 £20,000 £30,000 £40,000 £50,000

Salary

(c) Compare the distribution of the salaries of the mathematics graduates with
the distribution of the salaries of the archaeology graduates.
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y The length of time, in minutes, that 80 customers spend in a shop was recorded.
A cumulative frequency diagram of this data is below.
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(@) Find an estimate of the median.

(1)

(b) Find an estimate of the inter-quartile range.

A - bl

(2
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8. 40 students complete a puzzle.
The time taken, in seconds, is recorded.
The cumulative frequency diagram shows the information about the times taken.
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(a) Find the median time taken.

......................... seconds

(1)
(b) Find the inter-quartile range.

104 g4

(c) Complete a box plot for times taken.
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9. A teacher gave 100 boys and 100 girls a maths test.
The test was out of 45 marks.
The cumulative frequency curves show how each group performed.
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(@) Find an estimate for the number of boys who scored over 40 marks.
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(b) Make two comparisons between the distributions of the boys and girls scores.
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10.

Cumulative
frequency

A group of primary school students run an obstacle course.

The table below shows some information about their times.

Time, (t)

Cumulative
frequency

0<t<40

4

0<t<60

1

0<ts70

16

0<t<80

22

0<t<100

30

(@) On the grid, draw a cumulative frequency graph for this information.
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A group of secondary school students did the same obstacle course.
Their median time was 72 seconds and interquartile range was 34 seconds.

(b) Compare the times taken of these two groups of students.

fll/r/va ...... 5M ﬂM wére m(‘;U/ ?-ééer'

.............................................................................................................................

................................................................................................................................
......................................................................

.......................................................

..................................................................................................................

................................................................................................................................
................................................................................................................................
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11. The cumulative frequency diagram below shows the distribution of marks in an
Art exam.
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The lowest mark is 8.
The highest mark is 56.

(@) Draw a box plot for this data.

B
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(b) What percentage of students scored more than the upper quartile mark?
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12.  Mrs Davis sets her class a quiz, which has a maximum score of 50.
The distribution of the scores are shown in a box plot below.

R AR B 2e SRR S

0 10 20 30 35 40 50
Score

(a) Write down the median score.

(1)
(b) Write down the highest score.

(1)
(c) Find the interquartile range.

35 — |9 //

(2)
Martin scored 35 marks.
(d) What percentage of the class scored a lower mark than Martin?

;_§ ........ %

(1)
The interquartile range is a better measure of the spread of a distribution than
the range.
Explain why.
One._odther .. . .. 4f Cf;ﬂ ..... #e ..... [ L7L/ML ......
..... H@m&ffwd“yc

(1)
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13. The cumulative frequency diagram shows the distribution of speeds for 60 cars
on aroad.
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(a) Estimate the median speed.

(b) Estimate the interquartile range of the speeds.

FO~ 44

The speed limit on the road is 85 km/h.

(c) How many cars exceeded the speed limit?

b0 - S
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